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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following as directed : (any ten)
1x10=10
weTe fral emitarRd ol SRpTe Tl watl ¢ (Ricear
w201

(@) ‘Young person’ means a person who is
either a child or an adolescent.
(True/ False)

W IE N (22 9o & T & e wemy
e (2% q9%)

(b) Child labour can work in night shift.
(True/False)

fis s A NI A" (95/99%)
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(c)

(d)

(e)

(9)

()

Retrenchment includes voluntary
retirement of the workman. (True/False)
RGeS (20 e 3RIE R @R 93
Toffa | (%% q9%)
No adult worker shall be required or
allowed to work in a factory for more
than forty-eight hours in a week.

(True/False)
T AT HRF G5! FRLAS 8t WHrerE
SIfEE A GBI ARS PN F (FRNA |

(¥%/99%)
Child labour can work more than
S hours in a day. (True/ False)
i wfirss affrs ¢ 9brets st s am 3{e

S| (8%/58%)
International Labour Organisation (ILO)
is a body. (Fill up the gap)
GG =S F291 (ILO) 5 of
(31 312 739 F7)
Strike is a legitimate weapon in the
hands of the to be used by them.
(Fill up the gap)
B3 TR G WIS UG A ez
TR i | (&7 912 579 =)
‘Hot Stove Rule’ was advocated by_ .
(Fill up the gap)
2D COre 347 5% T F[0g|
(T 1% 979 1)
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(ij Collective bargaining ensures the
participation of in industry.
. (Fill up the gap)

TS FAFOS IRRAG (i
g e | (1 3% 23 31)

() Adjudication is the stage in the
settlement of industrial disputes.
(Fill up the gap)

UGG (e offiw TR [eR
Aol 3219 | (Nfer 912 %79 31)

(k) Which one of the following is objective of
workers’ participation in management ?
(Choose the correct answer)

O] SIHS (00! ARpERe 2T [@iemiee
T 2 (3% Tl AR Tfersan)
(i) Economic (Weft=fes)

(i) Social (&)

(iii) Psychological (SATIRIE)

(iv) All of the above (\€2/TT W20

() Reasons for failure of different workers’
participation schemes in India is
(Choose the correct answer)

OReAS ARG 25T @i TR
Rwel R IR (0% Cewhr a1z Bfea)
(i) unhealthy labour relation

fnww =i 799
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(m)

n)

(o)

(1) illiteracy of the workers
Hfiee el

(iii) delay in decision making
fFrare azre et

(iv) All of the above

@9fTe SRS WBRFen!

Factories Act
(Choose the correct answer)

LA W2 (o TG AR Taear)
(i) 1950 (>»¢o)
(ii) 1949 (>585)
(iii) 1947 (55849)
(iv) 1948 (>58v)

Trade Union Act
(Choose the correct answer)

QT 93 (i Tt AR Beean)
i) 1912 (5833)
(ii) 1926 (S53Y)
(iii) 1928 (S53¥)
(iv) 1930 (5590)
A sound disciplinary system should
possess (Choose the correct answer)

B! e SIS 4 T 1Tl
(7% Tewh! Ak Bferey)

() Rules and regulation should be
reasonable

Pz Tl 29w
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(i) Causes related to the worker
FIRPTZ 2R 91 Gib® 29 # IS
(i) Examine the witness
A Al =0
(iv) None of the above
857 OIS T

2. Briefly answer the following : (any five)

2x5= 10

e AT b S Bl 2 (Rt o)

(a)

(b)

(c)

(@)

(e)

(9)

(h)

What is labour absenteeism ?
Hfiis TsifFs AiE T2

What is closure ?

TF A e

Write the meaning of retrenchment.

fRGmo o fevat |

Write a short note on strikes.

Bz GIRETH! o |

What is collective bargaining ?
PIETROS TRTHAR e =2

What is recognition of trade union ?
=S AeeR il 3 ArErel itw [

Write the concept of Lock-outs.

1% SCH YIRACH! ol
What is lay-off ?

-5 i F2
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3. Write short answer of any four of the

following : 5x4=20
woa g b5 53 bed a8
(@) What is productive bargaining and gain

(b)

()

(d)

(e)

(9)
(h)

sharing ?
TR AIRCIRIAR B F1S Ol e (RN A
e

Write the provisions of employment of
young persons under the Factories Act.

PEAWI 2T WETS FAERRT A 23 [ew

T ol |

What are the provisions relating to lay-
off ?

(E-STFH F9% Give [Yiig 52

State the grievanes handling procedure.

@ed [oAi1G 79 FIhAeITPTR v |

Write the role of trade unions in
collective bargaining.

IADOS RS HfF 771 e A=A
&l |

Write a note on human resource
management.

R 379 #AfIBIER Sow OB (Gt 772 |

Write the nature of industrial relation.

Tl THE AT TS g v |

What is multiplicity of trade union ?
i T I%TS! Wi o
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4. Write long answer of a}ny SJour of the
following : E 10x4=40
S Rl 51fabr I%ETe e fael ¢
(a) What are various provisions relating to
health under the Factories Act.
TR W2 e FFreers [umerz & i |
(b) Define industrial dispute. What are the
power and duties of authorities under
the Act ?

TIeR STaE Ao fra mﬁﬁn% w5 2Nt/
PG ! Wil IR f e |

(c) Write the meaning of grievance. Explain
the grievance redressal machinery in

India.
8Ty O 7Yl | Oede eT e a=e
FrfeETIS o

(d) Discuss the process and importance of
collective bargaining.

FITROE AT e S w3y 774 |

(e) What is Joint Management Council ?
Discuss the objectives and functions of
Joint Management Coundil.

I@ A T WA &2 76 AR5 T

TR S I SIS 34 ||
() Write the objectives of the ILO. Explain
the organisational structure of ILO.

ILO-3 Trwm) =721 | ILOT 31 MO T=ETZ
feralt | |
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(g) State the concept of industrial relations.
What are the factors affecting industrial
relations in changing environment.

T T RAET o1 | RS e
AR T THTe [F IR goR) (AT
forat|

(h)  What are the factors affecting growth of
trade union in India.

OIS Hfi 37<eq T /3w F P 2o
@R sRez?

() What are the salient features of the
Industrial Employment (Standing
Orders) Act, 1946 ?

Industrial Employment (Standing
Orders) Act, 1946 3 (af8 @17 & foraf |

() Write the origin and growth of trade

union in India.

OeIXS AT 7R o2 Wi Tew /3
Rt foran

4 (Sem-6/CBCS) HE 5 (IRLL)/G 8 6000



